4.7 Applied Optimization Math 141 Spring 2016

Example 4.7.4. Construct a rectangle in the first quadrant with one corner at the origin and the opposite
corner on the graph of the function y = 10e® as illustrated. Find the coordinates of the point Q) that

give the rectangle the largest area.
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Example 4.7.5. Brooke is located 5 miles out at sea from a straight shoreline in her kayak. She wants
to make it to the taco truck on the beach for lunch, which is 6 miles from the point on the shore closest
to Brooke. Brooke can paddle 2 miles/hour and walk 4 miles/hour. Let’s assume that Brooke will paddle
along a straight line to the shore. Where should she land her boat to eat as soon as possible?
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Example 4.7.6. A car rental agency rents 180 cars per day at a rate of $32 per day. For each $1 increase
in rate, 5 fewer cars are rented. At what rate should the cars be rented to produce the maximum income?
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